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BMBEAR T —N\UT o RATE B=70.0 %4=72.6
{3 N—J&

JIE sz K £ Al 1 2 3 4 GROSS HDGP NET
1 1B UuHrsd | 41 45 92 29.0 63.0
2 |BBKR B Bl 4 40 84 19.0 65.0
3 |KRE E— Bl 43 41 84 17.0 67.0
4 [F0B HBA Bl 43 48 91 24.0 67.0
5 |1=% BeE Hl 38 43 81 14.0 67.0
6 |&R H=E Bl 48 48 96 28.0 68.0
1|1=/F =2 Bl 45 44 89 20.0 69.0
8 [T FE/N Bl 45 44 89 19.0 70.0
9 [&E#T ™ Bl 45 44 89 18.0 7.0

10 |fRE BX Bl 41 40 81 10.0 71.0
11 B #= Hl 41 43 84 13.0 7.0
12 2% 9= Bl 43 46 89 18.0 71.0
13 |%<H #= B\ 45 49 94 23.0 71.0
14 [EH B Bl 46 50 96 25.0 71.0
15 MR x— E| 48 45 93 21.0 72.0
16 |£ % Bl 45 46 91 19.0 712.0
17 |48 A B\ 45 46 91 19.0 72.0
18 [ZK HE Bl 45 46 91 19.0 712.0
19 |l EF | 49 58 107 35.0 72.0
20 [HE REB E] 52 4] 99 26.0 73.0
21 [RE F# Bl 43 46 89 16.0 73.0
22 | £E¥ H=E Bl 4 41 85 11.0 74.0
23 |1&1R EHE Bl 46 44 90 16.0 74.0
24 |%FH# 7 B 46 45 91 17.0 74.0
25 |#%H@ EE Bl 49 52 101 27.0 74.0
26 |8 #©= Bl 47 52 99 25.0 74.0
27 &R B3 Bl 45 54 99 25.0 74.0
28 |dtEB  FO/& B 58 54 112 37.0 75.0
29 |FEH  FOE Bl 50 50 100 25.0 75.0
30 |FA E B 48 48 96 21.0 75.0
31 [KE Bl 47 48 95 20.0 75.0
32 |MEF 1EBA Bl 4 49 93 18.0 75.0
33 [wim HE B 50 46 96 20.0 76.0
A [ A B 46 46 92 16.0 76.0
3 |MEF =N Bl 45 45 90 14.0 76.0
36 |#FtEe H3i Bl 48 49 97 21.0 76.0
37 || F Bl 48 49 97 21.0 76.0
38 [T Kk Bl b1 55 106 30.0 76.0
39 A &2 Bl 47 53 100 24.0 76.0
40 |Fafp  EE Bl 39 45 84 8.0 76.0
M| LR EE B 53 42 95 18.0 71.0
42 |#8EH 7 Bl 45 46 91 14.0 77.0
43 [sX HBE Bl 45 46 91 14.0 71.0
44 Mg = Bl 46 49 95 18.0 77.0
45 | HE FH Bl 52 55 107 30.0 71.0
46 |BH FH# Bl 4 47 91 14.0 77.0
471 |BHF FiE Bl 48 b1 99 22.0 11.0
48 (KO #FE 81 50 43 93 15.0 78.0
49 [XKE & B 56 53 109 31.0 78.0
50 |FF EX | b5 53 108 30.0 78.0




51 [miE ZRH 5| 46 49 95 17.0 78.0
52 |IAK =HiF 5| 54 48 102 23.0 79.0
53 (#tH &= 5| 51 51 108 29.0 79.0
54 (Rl =F | 56 95 111 32.0 79.0
55 |l wEmE 5| 51 90 101 22.0 79.0
56 |i5/K BEHE 51| 51 90 101 22.0 79.0
57 |KHA 83 5| 48 48 96 17.0 79.0
58 |MTR HER 5| 48 49 97 18.0 79.0
5 |BE ®— 5| 44 45 89 10.0 79.0
60 |TE &H B[ 56 o/ 113 34.0 79.0
61 |8HA A 5| 52 56 108 29.0 79.0
62 [18HA KiF 5| 47 92 99 20.0 79.0
63 | R#t i 5| 5 50 105 25.0 80.0
64 |=H ERA 5| 56 92 108 28.0 80.0
65 [MN& HEi# | 59 95 114 34.0 80.0
66 |&& 13 5| 46 49 95 15.0 80.0
67 |EH BF 5| 51 94 105 25.0 80.0
68 |thEA &t 51| 51 98 109 29.0 80.0
69 |iE HFZ 5| 57 49 106 25.0 81.0
70 [#E 3% B[ 50 92 102 21.0 81.0
ngR = x| 63 95 118 36.0 82.0
12 |5 i Bl 5 93 108 26.0 82.0
13 [#1H #8F x| 64 66 130 48.0 82.0
74 [FRB0  ERER 5| 48 o1 99 17.0 82.0
5 |#fR £ x| 5]/ 52 109 26.0 83.0
16 [#E H=E 5| 57 o4 111 28.0 83.0
7 |#E E— 5[ 50 49 99 16.0 83.0
18 [#ifR HF | 55 96 111 28.0 83.0
9 [&£F =HiF B[ 53 417 100 16.0 84.0
80 |NiEE FF %] 50 4] 97 13.0 84.0
81 [E2 EA 5| 43 52 95 11.0 84.0
82 |&M &I x| 64 99 123 38.0 85.0
83 |/ # 5| 52 54 106 21.0 85.0
84 (B RF 5| 56 o/ 113 21.0 86.0
85 |BXx = 5| 48 60 108 22.0 86.0
86 |Ask eft 5| 52 48 100 13.0 87.0
87 Mg #EEMK x| 64 60 124 37.0 87.0
88 |ix4E [E— 5| 52 47 99 11.0 88.0
89 |BE H#RF x| 63 62 125 31.0 88.0
90 |l # 5| 57 o/ 114 26.0 88.0
91 | F EHF x| 66 57 123 34.0 89.0
92 [HR &% S| 53 49 102 13.0 89.0
93 |ReF EHE %[ 51 58 109 19.0 90.0
94 |8 BEEM 5| 63 61 124 28.0 96.0
95 |REE H& 5| M 54 125 28.0 97.0




